Sub Item #
40976
87252
87254
87256
87282
87283
87284
87286
87312
87313
87314
87316
88434
88435
88436
92305
92306
92309
92310
92313
92314
92370
92371
92372

Kit Item List
Sub Item Description
LARGE PLASTIC 24 SPACE EMPTY STORAGE BIN
1/4-20 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-20 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-20 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-18 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-18 X 1-1/4" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-18 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-18 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-16 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-16 X 1-1/4" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-16 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-16 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-20 STAINLESS STEEL NYLON INSERT LOCKING NUT 18-8(304)
5/16-18 STAINLESS STEEL NYLON INSERT LOCKING NUT 18-8(304)
3/8-16 STAINLESS STEEL NYLON INSERT LOCKING NUT 18-8(304)
1/4" 1.D. X 1-1/4" O.D. STAINLESS STEEL FENDER WASHER 18-8(304)
1/4" 1.D. X 1-1/2" O.D. STAINLESS STEEL FENDER WASHER 18-8(304)
5/16" I.D. X 1-1/4" O.D. STAINLESS STEEL FENDER WASHER 18-8(304)
5/16" I.D. X 1-1/2" O.D. STAINLESS STEEL FENDER WASHER 18-8(304)
3/8"1.D. X 1-1/4" O.D. STAINLESS STEEL FENDER WASHER 18-8(304)
3/8"1.D. X 1-1/2" O.D. STAINLESS STEEL FENDER WASHER 18-8(304)
1/4" STAINLESS STEEL FLAT WASHER 18-8(304)
5/16" STAINLESS STEEL FLAT WASHER 18-8(304)
3/8" STAINLESS STEEL FLAT WASHER 18-8(304)

Quantity
1
40
25
20
30
22
15
12
20
16
12
10
100
70
40
30
20
30
20
30
20
100
80
75



